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B.A. (Part - I) (Semester - II) (CBCS) Examination, April - 2019
HOME SCIENCE (Optional) (Paper - IT)
Resource Management (DSC - B25)
Sub. Code : 71284
Day and Date : Friday, 12 - 04 - 2019 : Total Marks : 40
Time : 12.00 noon to 02.00 p.m.
Instructions: 1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
3) Draw a diagram wherever necessary.

Q1) Fill in the blanks choosing correct alternative. [5]

a) Management is a process.
i)  Physical ii) Mental
i) Mechanical iv) Technical
b) Resources are :
i)  Unlimited i) Limited
iii) Enough iv) None of these
c) is a continuum in which events succeed one another from
past through present to future.
i)+ ime i) Energy
i) Knowledge iv) Efficiency
d) is a second step of management process.
1)  Evaluation ii) Planning
i) Controlling iv) Decision Making
e) is a integral part of management process.
i) Resource i) Value
iii) Decision Making iv) Planning
Q2) Write short notes (Any three) : [15]

a) Advantages of Planning

b) Source of income

c) Classification of time

d) Management in changing world
e) Evaluation
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Q3) Write in detail on following questions (Any Two ) : [20]

a)

Write meaning and scope of management.

b) Write in detail fa.g;;t:a'r"s:‘éffé::it'inng- atilisation of resources.
c) Write on imponﬁgﬁée and stepslho'f decision making.
2) IS SRS QUi T e
3) avEs a2 N HIal.
o
¥.1) ara vaig FHaga feswn s . [5]
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3)  Hedid

W.3) Weltel ggare afer 3w el (s 2m) [20]
, 31) SgEEIATen Y T STt AR forgt.

, q)  HEHAT] JUARTAE GRUTH U gewh Hiawm fora.

; %) froig ufRae wea o = e fora.
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